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5689 |rFZH4—1an)L WA380-8 WiER= 34 m3 TREA=E 3.0 m3  |(B)/IMARIVERT
5690 |F505—an)L WA385-7 LEERE 3.4 m3 THEE=E 3.0 m3 (R DB MERR
5691 [F5H4—2an)L A5SDK5 WiEs= 0.22 m3 THEE= 0.14 m3 ) FTAFa—kRkL—3>
5692 |F505—an)L A5SDKL5 LEERE 0.22 m3 THEE=E 0.14 m3 [BRTFAFa—HkRL— 3>
5693 [F5H4—anN)L A5SDK6 WiEs= 0.28 m3 THEE= 0.21 m3 ) F7AFa—RkL—3>
5694 [FS5H3—1anL A5SDKL6 WiERs= 0.28 m3 THEE=E 0.21 m3 |#)F7AFa—HkRL—3a>
5695 |FSHA—anL 7ZW40-5B WiESs= 0.50 m3 THEE= 0.42 m3 [BAITE#GR
5696  |F5H3—anN)L ZW40-5B-AC WiERs= 0.50 m3 THEE=E 0.42 m3 [BITE#GR
5697 |FSHA—an)L ZW50-5B WiESs= 0.60 m3 THEE= 0.50 m3 [BAITE#GR
5698 |F5052—an)L 950M WEERE 3.3 m3 THEE=E 2.9 m3_|FrRES—U v/ (k)
5699 |FSHA—anL 962M WiESs= 3.6 m3 THEE= 3.2 m3_|FrRES—T /03
5700 | I)Lk—H— D3K2-E EirE=s 8.200 t FrIES—U% /()
5701  [/\wH7R™ PC30MR-5 WiEs= 0.10 m3 THEE= 0.09 m3 |/ NEERR
5702 [/\wHERY PC35MR-5 WiERs= 0.12 m3 THEE=E 0.11 m3 |(BR)/NABMERT
5703 [/\wHERD PC35MR-5N0 WiEs= 0.12 m3 THEE= 0.11 m3 | /NEERR
5704 |/\vHiR PC45MR-5N0 WiERs= 0.14 m3 THEE=E 0.11 m3 |EE)/MAELYERT
5705 |/\vHRY PC55MR-5N0 WiESs= 0.16 m3 THEE= 0.12 m3 (B /MRRMERT
5706 |/\wPR™ B20U WiERs= 0.066 m3 THEE=E 0.06 m3 | —EH#*EER)
5707 |/\wPR™ 050ESR WiESs= 0.21 m3 THEE= 0.16 m3_|FrRES—U /03
5708 |/\wH7R™ 050ESR AC WiERs= 0.21 m3 THEE=E 0.16 m3 [FrRES—F N\ GE)
5709 |/\wH7R™ 308E2 CR-E WiEs= 0.28 m3 THEE= 0.21 m3 [FrRES—D w3
5710 |/\vwHR™ 308E2 SR-E WiERs= 0.28 m3 THEE=E 0.21 m3 [FrRES—F N\ GE)
5711 |/\wH7R™ RX—306E AC WiESs= 0.09 m3 THEE= 0.06 m3 |(#R)FR4E
5712 [/\wH7R™ U-40-6E WiERs= 0.14 m3 THEE=E 0.1 m3 |(#)HRAR
5713 |/\wH7R™ U-40-6E AC WiEs= 0.14 m3 THEE= 0.1 m3 |(#R)FR%E
5714 [/\wH7R™ U-55-6E WiERs= 0.15 m3 THEE=E 0.11 m3 |(#)HRAR
5715 |/\wH7R™ U-55-6E AC WiESs= 0.15 m3 THEE= 0.11 m3 |(#k)FR%E
5716 |/\vH7R™ RX-506 WiERs= 0.21 m3 THEE=E 0.16 m3 |(#)HRAR
5717  |/\9H7R™ RX-506 AC WiEs= 0.21 m3 THEE= 0.16 m3 |(#R)FR%E
5718 |/\wHR™S ZX200X-5B WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5719  |/\wH7R™ 7ZX200LCX-5B WiESs= 0.80 m3 THEE= 0.58 m3 |H I ERGR)
5720 |/\wHERY SK20UR-6 WiEs= 0.066 m3 TiERE 0.06 m3 [aXR)LaE##EE)
5721 [IRBI0D—5— BW115AC-5 HmLEs 2.600 t aN)LOERGE)
5722 |IRIOD—>5— BW131ACW-5 HRLEE 3.500 t aRJLIEHEER)
5723 |[#O—S5—4HL—> SCX3500-3C5 mERER 350 tH X 5.0 m |BMERERBERIL— ()
5724 |FRA—JLUL—2 KR-50H-F BLEEEH 50 LB x 3.0 m |(BR)HNEE B e
5725 |[kowOHL—2 LTM1075NX - EEEN 60 tH X 2.1 m [)=TA)L -8 (B
5726 |kSuHHoL—> ATF-100G4(J)-2 mLEED 100 tH X 2.3 m_ [(#R)2F/
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5727 /N4 J 0O/ — KLVH-07 EiEh 133.4 kN KRB 1800 cpm |(B)T—3—
5728 |[A—ILT— S iEBI#E  [SRD-1200HGHE1=vrSPU-360-K)| ER RIEHIE 1200 mm =l e )
5729 (A= — 2 {EBIBE  [SRD-1500HCHE 1 =vrSPU-360-K)| ER AIREIE 1500 mm =T RR)
5730 [A—ILT— S iRBIME  [SRO-1500H-T GAE1=vhsPU-360-K)|  ER RIBHIE 1500 mm =FHET ()
5731 |A—J)ILr— 5 JEE|# |SRD-2000HCGEE1=vrSPU-360-K)| 5= AIEEIE 2000 mm =FHET ()
5732 |A—JL—> 5 iEBI#4% [SRD-2000H- I GHE1=vFSPU-360-K)| 1= A 4w HIlfE 2000 mm =l Ee))
5733 |A—N7— U JHEHIBE  [SRD-3000HCHE1=vhsPU-360-K)| R AHEAIE 3000 mm = R IGR
5734 [7—RA—H— PDC-330LWC 2XERXES  48.31 t ERIMEE R (RR)
5735 | 7—RA—H— PDC-330LE 2EExAEE  49.61 t SRR GEEGER)
5736  |7—RA—H— DHJ125-6 F—FHHH 515 kW HEEIE 1000 mm_ | B AEHHELERE)
5737 |HBFKEH NES100TI2 EHRE= 100 kVA EEEXTETHCD)
5738 | RBIEE NES125TI2 TEHE= 125 kVA EESETTETHED)
5739 |HBFKEH MGC1001-A EREE 0.95 kVA =SBEII UV AT LK)
5740 [REFEE MGC900GBA ERE=E 0.85 kVA =HEIT UV RTLGE)
5741 | RBFREHR MGC900GPA EREE 0.85 kVA =EBEITICUVRTL )
5742 [REIHEE MGC2200GA EREE 2.2 kVA SEEITCUURTLME)
5743 |HBFKEH EG25BS-6E EHRE= 25 kVA R/ MERR
5744 | RBEE EG45BS-5E THE= 45 kVA (#R) /M B FR
5745 |HBFKEH EG60BS-7E EHRE= 60 kVA R/ DB MERR
5746 |REFEE EG150BS—-8E TEHE= 150 kVA (BR)/MAEMERT
5747 |HBFKEH EG220BS-6E EHRE= 220 kVA R/ DB MERR
5748 | RBIEE SDG455-5B2 THE= 45 kVA ST (%)
5749 |HBFKEH DCA-25LSKE-D EHRE= 25 kVA T2 3—(#k)
5750 |HEHRE DCA-100LSIE-D THE= 100 kVA T 23— ()
5751 |RBIREH GE-900B TREE 0.85 kVA T2 3—(#k)
5752 | RBIERE GE-900P TEHE= 0.85 kVA T 23— ()
5753 |HBFKEH GE-2200P2 TREE 2.2 kVA T2 3—(#k)
5754 |ZERIEHEtE PDSG900S-4C5 HHE 244  m3/min A 14 MPa [dbi#8 T Z (3%)
5755 | ZERIEHEkk PDSG900SC-4C5 HHE 244  m3/min EA 14 MPa [dvi#s T 2 (#%)
5756 |ZERIEHEtE PDSF210S-5C3 HHE 60 m3/min A 1.03 MPa [Jbi#8 T Z (3%)
5757 | Z=ERIEHER DIS-140LB-C HHE 39 m3/min EA 0.7 MPa |T>3—0%)
5758 |a> 41 —kHhvE— JC—450MT-3 7 L—NE 38 cm IBRFA A E R T E (k)




